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M. Com. (Sem. III) (W.E.F. 2019) Examination
June - 2022
Business Research Application

Time : Hours] [Total Marks : 70
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Class Renelail ulReun

Poor Moderate Good | Excellent
First Year 24 97 62 58
Second Year 22 28 30 41
Third Year 32 10 11 20
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s yRai<dl »uas (Rs. ‘000)
Sample Rajkot-1 Rajkot-2 Rajkot-3
1 70 100 60
2 72 110 65
3 75 108 57
4 80 112 84
5 83 113 84
6 - 120 70
7 - 100 -

B 2181 (AR AL AW R AR 2A1as 218 AHLA 1S W57 5%+l Al sdl
i yRseurild ulawl s, (Table value : 3.68)
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] @ Wl O, AR Yel Yel UsiRell 1l 2 s100210 Raugls
Geulert=ll sull vl {12 Horor wid 2l 9.

yaflv
sl M1 M2 M3 M4
I 40 36 45 30
1I 38 42 50 41
I 36 30 48 35
\Y 46 47 52 44

el [2dnel gl 5%-(l Adsdinl uRseu-iat 1A 20al usHle

ulagl s
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(2) uRseuri ulaw 50 3 s9A10210 A0 Bule stdamdl AselHi
210l «Yl. (Table Value : 3.86)
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WHLBIA [aua- 83 78
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X 10,000 20,000 5,000
Y 8,000 12,000 9,000
Z 7.000 7.000 7,000

AL 0.30 0.50 0.20
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AAdl Baules s Adl drged Gaulet sAL $ 9. oA Al sl 17.5
el sl Aetandll Wledl 2 Yoot .

Profit Rs.
Products Good Moderate Poor
A 35,000 15,000 5,000
B 50,000 20,000 (-3,000)
Probability
A 0.75 0.15 0.10
B 0.60 0.30 0.10

UL ¢ = 0.6, sl Mun Hool ol qrgil-l 2iella et k).
Y19y daqell Gauled HleHl Aals M.

ENGLISH VERSION

SDR Education institution wants to investigate online teaching 17.5
and learning method of different class of students and performance

of students. Following 1s the information obtains for different class

of student and performance of students.

Class Performance of Students

Poor  Moderate Good Excellent
First Year 24 97 62 58
Second Year 22 28 30 41
Third Year 32 10 11 20

Use 5% level of significance, Management of education institution
examine the hypothesis that performance of various students of
various class are not difference significantly. (X, = 12.592)

(a) Fit binomial distribution to the data and test the goodness 10
of fit. Test the hypothesis that the coins are unbiased at use
5% level of significance. 4 coins were tossed 100 times and
the following results were obtained. (X, = 9.49)
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No. of
Heads

Observed

Frequencies

10

17

44

21

(b) Explain Properties of X? distribution. Explain X? test — 7.5

test of Goodness of Fit.

3  D-Mart store chain in considering opening a new store at one  17.5

of three locations in Rajkot city. An important factor in making such a

decision is the household income in Rajkot areas. If the average income

per household is similar then the management can choose any one of

these three locations. A random survey of various households in each

location 1s under and their annual combined income is recorded which

are as given below.

Annual Household Income (Rs. ‘000)
Sample Rajkot-1 Rajkot-2 Rajkot-3
1 70 100 60
2 72 110 65
3 75 108 57
4 80 112 84
5 83 113 84
6 | - 120 70
7 | - 100 | -

Test the hypothesis at 5% significant level. Can the average income

per household in these areas be considered to be the same ? (Table

value : 3.68)

4  Aarushi Pvt. Ltd. is evaluating machines performance and

17.5

employees productivity. Management is considering four various

machines and four types of employees. The following table give

the number of units of production per day turned out by four

different types of machines any employees.
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Types of Machine
Employees M1 M2 M3 M4
I 40 36 45 30
Il 38 42 50 41
Il 36 30 48 35
\Y 46 47 52 44

Using analysis of variance test following question at 5%

significance level :

(1)
2)

Test the hypothesis that mean production is same for four
machines.

Test the hypothesis that the employees do not differ with
respect to mean productivity (Table Value : 3.86)

A educational testing service conducted a study to
investigate different between marks score of female and male
students on the business statistics test. The study identified
a random sample of 562 female and 852 male students who
had achieved the same high score on the statistics portion of
the test. Male and female students viewed as having similar
high ability in statistics. The verbal cores for the two samples
are given below :

Female | Male

Sample Mean 547 525

Standard Deviation 83 78

Do the data support the conclusion that given populations of female
and male student with similar high ability in statistics ? Test at 5%
significance level. (Table value = 1.645)

(b)

Write short notes : Characteristics of t-distribution.

Khushi store sales two different product Product — X and
Product — Y. Following are the results of products and their profit.

Product-X

] 41215317913 |5|719
Profit in Rs.
Product-Y

] 86 |5(3|4|7|652|1]-]-
Profit in Rs.

Use 5% level of significance. Test two products differ significantly
with regard to their profit (Table value = 2.086)

12.5

17.5
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7  An investor wants to invest his savings in one investment 17.5
alternative. Investor has three different alternatives. Investor
evaluates three investments alternatives. Following is expected
return value of investments alternative.

Investment El E2 E3
Alternatives
X 10,000 20,000 5,000
Y 8,000 12,000 9,000
V4 7,000 7,000 7,000
Probability 0.30 0.50 0.20

Find following value :

(1) Expected value and find best investment alternative.
(2) Expected Opportunity Loss (EOL)

(3) Expected Value of Perfect Information (EVPI)

8  Janvi manufacturer wants to produce one product. Following 17.5

1s the information gets for two products profits and probabilities.
Profit Rs.

Products Good Moderate Poor

A 35,000 15,000 5,000

B 50,000 20,000 (-3,000)
Probability

A 0.75 0.15 0.10

B 0.60 0.30 0.10

When ¢ = 0.6, find the expected value for both products by
Hurwiczg rule. Give comment for feasible product.
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